Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4169]-301

T.Y. B.Com. EXAMINATION, 2012
BUSINESS REGULATORY FRAMEWORK (M. LAW)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is free consent ? Explain the various factors affecting on free

consent. [16]

2. Who is an ‘Unpaid Seller’ ? Explain various rights of unpaid seller

against the goods. [16]
Or
State and explain the rights and duties of Bailee.
3. (A) State and explain the rights and duties of consumer. [§]
(B) State the procedure for procuring patent. [8]
Or

(A) Distinguish between a Bill of Exchange and Promissory Note. [8]

(B) Explain the powers of Arbitrator. [8]
P.T.O.



4, Define a holder and a holder in due course and distinguish
between them. Explain the special privileges of a holder in due

course. [16]

5. Write short notes on (any fwo) : [16]
(A) Legal issues involved in E-contracts
(B) Composition and jurisdiction of the National Commission
(C) Types of Trademarks

(D) Distinguish between Noting and Protesting under Negotiable
Instruments Act, 1881.
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Total No. of Questions—4] [Total No. of Printed Pages—8+2

S;at [4169]-302

T.Y. B.Com. EXAMINATION, 2012
ADVANCED ACCOUNTING
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(zzz) Use of calculator is allowed.

1. (A) Answer in one sentence only (any five) : [10]
(i) What are the other names for unexpired discount ?
(ii) What is a “Period of Indemnity” ?
(iit) Accounting Standard 18 stands for what ?
(iv) Give the formula to calculate “Stock Turnover Ratio”.
(v)  What are the different types of farming activities ?
(vi) Unallocable expenses are transferred to which Account ?
(vii) Which transactions are recorded in Branch Account ?

(B) Write short notes on (any fwo) : [14]

(i)  Accounting Standard 3.

(zz) Cum-interest and Ex-interest transactions of Purchases

and Sales in Investment Accounts.

P.T.O.



(iit) What is meant by Departmental A/c ? Explain its need.

(iv) Distinguish between Management Accounting and Cost

Accounting.

(v) Liquid Ratio.

The following is the Trial Balance of Cosmo Bank Ltd. as on 31st

March, 2011 : [14]
Trial Balance
Debit Credit
Rs. Rs.
Share Capital :
(12,000 equity shares of Rs. 100
each fully paid) — 12,00,000
Statutory Reserve — 2,40,000
Deposits — 25,00,000
Provident Funds — 2,70,000
Borrowings from Banks — 5,10,000
Unclaimed Dividend — 8,000
Commission and Exchange — 75,000
Profit on sale of Non-Banking Assets — 2,400
Other Expenditure 4,900 —
Profit and Loss Account as on 1-4-2010 — 2,24,600
Premises less Depreciation 3,70,000 —
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Money at call and short notice 4,30,000 —
Furniture less depreciation 60,000 —
Depreciation on Banks Assets 22,000 —
Non-Banking assets acquired in

settlement of claims 40,000 —
Cash in hand 6,00,000 —
Cash at Banks 5,00,000 —
Investments 7,00,000 —
Loans, Cash credit and Overdrafts 25,30,000 —
Interest on Deposits and Borrowings 4,00,000 —
Audit Fees 9,000 —
Salaries and Allowances to staff 81,000 —
Directors Fees 8,000 —
Postage and Telegrams 2,700 —
Printing & Stationery 7,400 —
Interest and Discounts 7,35,000

57,65,000 57,65,000

Adjustments :

(1) Provide Rs. 20,000 for Bad and Doubtful Debts.
(2) Bills for collection amounted to Rs. 2,10,000.

(3)  Acceptances, Endorsement and other Obligations amounted to

Rs. 1,04,000.
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(4) Provide Rs. 3,000 for Rebate on Bills discounted.
(5) Provide Rs. 21,000 for taxation.

(6) Postage stamps of Rs. 320 and stationery of Rs. 1,400 was
in hand on 31-3-2011.

Prepare Profit and Loss Account for the year ended 31st March,
2011 and Balance Sheet as on that date as per the Banking Regulation

Act, in the Prescribed Schedules.
Or

Mr. Khanna holds a Loss of Profit Policy. From the following information

calculate the amount of claim under a Loss of Profit Policy. [14]

(1) The accounts are prepared annually on 31st December.

(2) The Net Profit Plus Insured standing charges for the year
ended 31st December 2010 Rs. 2,00,000.

(3)  Fire occurred on 30th April 2011; the period of indemnity is

6 months.

(4) The sales for the year ended 30th April 2011 were Rs. 5,24,000

and for the year ended 31st December, 2010 were Rs. 5,00,000.

(5) The sales during the period of dislocation were Rs. 80,000
and for the corresponding period in the preceding year were

Rs. 1,80,000.

(6) The expenses incurred to mitigate loss were Rs. 8,000.
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(7)

(8)

3. A

(B)
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The savings in standing charges due to fire amounted to

Rs. 2,000.

The amount of Policy was Rs. 1,57,200.

Axis Investments Ltd. holds as on 1st April 2010, Rs. 1,00,000
(Cost Rs. 98,000) 12% Debentures of Matric’s Ltd. as investment;
on which interest is payable half yearly on 1st January and
1st July every year. The following transactions were made out

of these investments during the accounting year ended 31st

March 2011.

(1) Purchases as on 1st August 2010. Face value Rs. 20,000
@ Rs. 102 Cum-interest.

(2)  Purchases on 1st December 2010. Face value Rs. 40,000
@ Rs. 105 Ex-interest.

(83) Sales on 1st November 2010. Face value Rs. 10,000 @
Rs. 104 Cum-interest.

(4) Sales on 1st February 2011. Face value Rs. 30,000 @
Rs. 102 Ex-interest.

Write up Investment Account. Investment as on 31st March

2011 are to be valued at cost by F.ILF.O. method. [8]

The summarised Profit and Loss Account and Balance
Sheet of Vijay Corporation Ltd., Pune for the year ended
31-3-2011 is given ahead :
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Profit and Loss Account

(for the year ended 31-3-2011)

Dr. Cr.
Particulars Rs. | Particulars Rs.
To Opening Stock 99,500 | By Sales :
To Purchases 5,45,000 Cash 4,75,000
To Carriage Inward 15,500 Credit 4,75,000 9,50,000
To Gross Profit C/D | 4,40,000 | By Closing Stock 1,50,000
11,00,000 [ 11,00,000
To Operating
Expenses 2,00,000 | By Gross Profit B/D | 4,40,000
To Non-operating By Non-operating
Expenses 40,000 Income 60,000
To Net Profit C/D 2,60,000
5,00,000 5,00,000
Balance Sheet as on 31-3-2011
Liabilities Rs. Assets Rs.
Capital (20,000 Equity Land and Buildings 1,50,000
shares of Rs. 10 each) 2,00,000 | Plant and Machinery | 1,80,000
Reserves 2,00,000 | Stock in Trade 1,50,000
Profit & Loss Alc 60,000 | Debtors 45,000
Other Current Liabilities 90,000 | Cash at Bank 60,000
Bills Payable 40,000 | Bills Receivable 5,000
5,90,000 5,90,000
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Calculate :

(D
(2)
(3)
(4)
(5)
(6)

Gross Profit Ratio;

Net Profit Ratio;
Operating Ratio;

Stock Turnover Ratio;
Debtors Turnover Ratio;

Current Ratio. [14]

Mr. Pratap maintains his books by Single Entry System. His Cash

Book for the year ended 31st March 2011 was as follows:

Summary of Cash Book

Receipts Rs. Payments Rs.
To Balance B/D 24,600 By Investments 4,000
To Sales 17,400 By Pratap’s Drawings 13,000
To Debtors 71,400 By Purchases 14,600
To Bills Receivable 30,600 By Creditors 57,800
To Interest 3,000 By Bills Payable 15,000
To Pratap’s Capital 20,000 By Wages 34,600
To Balance C/D 7,460 By Carriage Inwards 2,700
By Postage 1,100
By Salaries 24,000
By Rent and Taxes 1,860
By Insurance 1,400

By Printing and
Stationery 4,400
1,74,460 [ 1,74,460
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Particulars of Assets

and Liabilities were as follows :

1-4-2010 31-3-2011
Rs. Rs.
Investments 30,000 34,000
Stock 27,400 58,600
Debtors 42,000 50,000
Bills Receivables 28,000 36,000
Creditors 62,000 58,000
Bills Payable 14,000 18,000
Plant and Machinery 90,000 85,000
Furniture 7,000 6,200
Adjustments :

(1) A provision of Rs. 2,500 was necessary on Debtors for doubtful

debts.

(2)  Outstanding wages were Rs. 3,000 and outstanding salary was

Rs. 1,400.

(3) Insurance was paid for one year ending on 30th September,

2011.

(4) An advertising bill was payable amounting to Rs. 800.

Prepare Trading, Profit and Loss Account for the year ended

31-3-2011 and Balance Sheet as on that date.

[4169]-302
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Or

From the following Trial Balance of Bhosale Farm, prepare Crop
Account, Livestock Account, Profit and Loss Account for the year

ended 31st March, 2011 and Balance Sheet as on that date :

Trial Balance

Debit Rs. Credit Rs.
Opening Stock Sundry Creditors 7,500
Growing Crops 5,000 Bank Overdraft 1,500

Wheat 2,500 Manager’s Personal

Fertilizer 2,500 Account 1,000

Livestock 12,500 Sales :

Feeding Materials 3,000 Wheat 17,500
Crop Expenses 5,000 Livestock 37,500
Livestock Exp. 14,150 Loan 30,000
Farmhouse Exp. 600 Provision for
Interest on Loan (Crop) 2,000 Depreciation 15,000
Salaries and Wages : Profit and Loss A/c 5,000

Manager’s Salary 3,000 Capital 1,35,000

Farm Labour 2,500

Staff Meals 250

Land and Building |1,05,000
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Machinery (Farm) 54,000

Sundry Debtors 15,000
Cash in hand 13,000
Repairs to Machinery 500

Tools and Implements 1,250

Office Expenses 2,000
Livestock Purchases 6,250
2,50,000 2,50,000

Additional Information

(1)

(2)

(3)

(4)
(5)
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Stock on 31st March, 2011 : Growing Crops Rs. 2,000; Wheat
Rs. 2,000; Fertilizer Rs. 1,000; Livestock Rs. 20,000; Feeding
materials Rs. 500; Tools and Implements Rs. 1,000.

Depreciation on Tools and Implements is to be allocated between

crop and livestock equally.

Manager’s salary and staff meals are charged 20% to Live-

stock Account and 80% to the Crop Alc.
Farm Product worth Rs. 500 is consumed by cattles.

Farmhouse expenses and Farm Labour distributed between crop

and livestock in the ratio of 3 : 2. [20]

10



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat
No. [4169]-303
T.Y. B.Com. EXAMINATION, 2012
ECONOMICS
(Indian and Global Economic Development)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the constraints on agricultural development in India. [16]

2. What are the basic characteristics of the Indian Economy as an

emerging economy ? [16]
Or

Explain the achievements and failures of Indian Economic

Planning. [16]

3. (A) Explain the arguments against privatisation. [8]

(B) Explain the role of Human Resource in Economic

Development. [8]
P.T.O.



Or

(A) State and explain the convertibility of Rupee in current

account. [8]
(B) State the importance of foreign trade in Economic Development. [8]

4, Explain the need of foreign capital in Economic Development. [16]

5. Write short notes on (any fwo) : [16]
(A) Role of Industrialisation in Economic Development.
(B) Private investment in Infrastructure Development.
(C) International monetary fund (I.M.F.)

(D) International Bank for Reconstruction and Development (World
Bank) (IBRD).
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4169]-304

T.Y. B.Com. EXAMINATION, 2012
ECONOMICS
(International Economics)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iit) Draw a diagram wherever necessary.

1. “International Trade is an engine of Economic Development.”
Discuss. [16]

2. Explain the concept of Terms of Trade and discuss in detail the

types of Terms of Trade. [16]
Or

State the meaning of free Trade Policy. Explain in detail the merits

and demerits of Free Trade Policy. [16]

3. (a) State the meaning of Foreign Exchange Rate. Explain the merits
of Flexible Exchange Rate. [8]

(b) What is International Labour Migration ? Explain the effects

of International Labour Migration. [8]

P.T.O.



Or

(a) State and explain in detail the concept of Foreign Exchange

Market. [8]

(b) Critically examine the ‘Balance of Payments Theory’. [8]

4, Evaluate the India’s Foreign Trade Policy Since 1991. [16]
5. Write short notes on (any fwo) : [16]

(2) Difference between Domestic Trade and International Trade.
(i) Static and Dynamic gains from Trade.
(zzz) Euro Dollar market.

(iv) Types of foreign capital.

(W& T UIR)
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Total No. of Questions—35] [Total No. of Printed Pages—8+3

Seat

No. [4169]-305

T.Y. B.Com. EXAMINATION, 2012
AUDITING AND TAXATION
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

1. What is meant by Auditing ? State and explain the classes of Audit. [16]
Or

Explain the rights, duties and liabilities of Company Auditor. [16]

2. Write short notes (any four) : [16]
(a) Advantages of Audit Programme.
(b) Audit note book.
(¢c) Importance of Vouching.
(d) Difference between Verification and Valuation.
(e) Types of Audit Report.

(fA Internal control.

P.T.O.



(@)
(b)
(c)

(d)

Define the following terms :

Income
Assessee
Person

Assessment year.

Or

[8]

From the following information given by Mr. Deelip Kumar, compute

the taxable income from house property for the A.Y. 2012-13 :

(a)
®)
(c)
(d)
(e)
%)
@)
(h)
()
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Particulars

Municipal value

Fair rent

Standard Rent
Actual Rent Received
Municipal Tax
Repairs

Insurance

Land Revenue Paid

House

A

1,10,000
1,20,000
1,26,000
1,32,000
18,000
6,000
3,000

4,000

House

B

1,07,000
1,00,000
1,20,000
1,06,000
20,000
8,000
4,000

2,000

Interest on capital borrowed for construction of house B * 30,000.
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4, (a) Mrs. Kalyani Gangurde is employed in a company at Mumbai
and she furnished the following particulars of income for the

financial year 2011-12 : [16]
(1) Basic Salary ° 15,000 p.m.

(2) Dearness Allowance ° 6,000 p.m. (* 2,000 for retirement
benefits)

(3) Bonus ° 40,000

(4) Entertainment Allowance =~ 1,000 p.m.

(5) Interest on R.P.F. at 13% ~ 39,000

(6) Employer’s contribution to RPF is 15% of salary.

(7) She is provided with furnished accommodation at Mumbai
by the employer. Cost of Furniture is ~ 50,000. Rent paid

for accommodation by Mrs. Kalyani Gangurde is * 2,000 p.m.
(8) Hospital bill reimbursed by the employer ~ 12,000.

(9) She has been provided with the facility of sweeper, watchman
and servant who are paid by the employer ° 1,500 p.m.,
1,800 pm. and =~ 1,700 p.m. respectively.

(10) She has been provided with a 1,800 C.C. car for both
official and private purpose. Running and maintenance

expenses are borne by the employer.
(11) Gas, Electricity and Water bills paid by employer * 12,000.
(12) Professional Tax Paid ° 2,500.

Compute her taxable income from salary for the A.Y.

2012-13.
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(b)

The following is the Receipts and Payment Account of Medical

Practitioner for the year ended 31 March, 2012 : [8]
Receipts Payments
To Balance b/d 1,10,000 By Clinic Rent 1,20,000
To Visiting Fees 1,65,000 By Staff Salaries 1,80,000
To Consultation Fees 1,65,000 By Electricity & Water 9,000
To Sales of Medicine 1,25,000 By Purchase of Medicine 84,000
To Sale of old By Motor Car Expenses 60,000
equipment 8,000 By Audit Fees 20,000
To Operation theatre rent 1,15,000 By Staff Welfare Exp. 14,000
To Interest and Dividend 20,000 By Surgical Equipments 1,30,000
By Balance b/d 91,000
7,08,000 7,08,000

Additional Information

(1)

professional use is
(2)
(3)

Depreciation as per income tax rules on motor car for

6,000.
1/3 of motor car expenses relate to his personal use.

The rate of depreciation on Surgical equipments is 15%.

The W.D.V. of equipment brought forward from earlier

year was ~ 23,000.

(4)

Audit fees include income tax appeal expenses

5,000.

Compute the taxable income from profession for the assessment

year 2012-13.

[4169]-305



Mr. Arun Vidhate a resident individual furnishes the following information

for the year ended 31-3-2012 : [16]

(D
(2)
3)
(4)
(5)
(6)

(7)
(8)

9)
(10)
(11)

(12)
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Net salary per month =~ 19,275.

Income tax deducted at source ° 3,000 p.m.
Professional tax deducted at source =~ 225 p.m.
Commission (fixed) ° 48,000. p.a.

Bonus ° 40,000 p.a.

Education Allowance (p.a.) (for two sons and one daughter studying

in school) ° 6,600.
Employer’s contribution to R.P.F. ° 38,400.

Free car (1,650 C.C.) facility for official and private purpose.
Expenses paid by the employer ° 25,000.

Share of profit from a firm ° 36,000, from HUF ° 30,000.
Income from business ° 15,200.

Income from lottery ~ 10,000.

He received the following :

(a) Interest on Bank Deposits ° 25,000.

(b) Interest on Company Deposits ° 7,000.

(c) Dividend from domestic company ° 5,000.

(d) Maturity claim of LIC ° 65,000.

5 P.T.O.



His savings and investments were as follows :
(z) Contribution to RPF * 30,000.
(ii) Payment of LIC premium =~ 12,000.

(iiz) Medical insurance premium on the health of dependent

father aged 65 years °~ 17,000.
(iv) Repayment of Higher education loan =~ 47,000.

(v) Repayment of self-occupied housing loan (Interest

T 28,5000 ° 58,700.

Compute his total income and tax liability for the

AY. 2012-13.

(WS wUIaR)
q% : dF A THU T : 80
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[16]
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1,10,000
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1,26,000

w e
1,07,000
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1,20,000
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(®)
(3)
(%)
()
()

Jay fHoe e 1,32,000

TRUTSIRT T 18,000
L5} 6,000
famm 3,000
qare  wo 4,000

1,06,000
20,000
8,000
4,000

2,000

(1) TREYO deedie R O‘F 9o AN 30,000.

4. (37)
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S
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(9) WITHM WM AREHMR, (AR A0 FawmE ol oo
AR T HeF <H. 1,500, ° 1,800 AU ° 1,700 Tt
.
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HUA .
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T ECE]
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EIRICER| 1,65,000 HHAR TR 1,80,000
oA i 1,65,000 oS 9 GOt e 9,000
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7,08,000 7,08,000
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(D)
(2)
(3)
(4)
(5)
(6)
(7)
(8)

9)
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LR |51

(1) TIR FHESATHR AHREFR AUl STHSA HIERABE SEHN

6,000.

(2) 18 HRERGR ©< odfdde dOUde 3Te.

(3) HiSlhe IUHTUMEUS FHRT 15% 3TR. HFNS auidie Sushun<t W.D.V.

' 23,000 3.
(4) & quEol fF 983 oT¥eR oo ®9 ° 5000 T TR
HTERT o 2012-13  HAA WIAREFD HAE I Hlal.

St oe0 four I 31-3-2012 3TA=N Hifed! Wioie gam fodl 3 ¢ [16]

gfd "8 s T~ 19,275.

TRIGT A shodl AFHR 3000 Yol Hie

TRIGT hUd ool FaEr w225 Ydl HfE

wfmH (Fix) = 48,000 Hfd oo

aE 40,000 Hid .

RO o - IMed WO 9 s d TEh o 6,600 T @
AT gfgsy fratg e arewm fTodt o 38,400.

FHEGE G W HEERAT 1,650 LGl $Si &Hdel R HIiTd
et o w=r @ wWowH - 25000 o

TR HXdehed feeat w1 36,000 owfur fig eifawea sZamhed

e T/ 30,000.

10



(10) SHEEEOEAE 39 15,200.

(11) @fuEd 39=1 ° 10,000.
(12) @& e YHY Sa- Heo o)
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(37) dh TEERE = 25,000.

(9) ®U &= AN 7,000.

(%) R Hred fHeee @ET © 5,000.

[&N

[a

(¥) e fom=mt faaeer @R 65,000.

= 99d 9 AU @loe gH

(i) w=aaTa vfoss frafe fasi=f =wfoit © 30,000.

(ii) STfdmr g@m ° 12,000.
(iii) TATATR 3G STHUA Feiar=l R fom g« -~ 17,000
(St | 6 av).

(jv) =9 RIeomRdal Udoe deidl Wdhe © 47,000.

(v) FEE =EERE Feidl Wahs = 58,700 (IMHES AN

© 28500 3TR).

HETERT o 2012-13 W THO IGH 9 FEQIAA FEQ

11



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4169]-306

T.Y. B.Com. EXAMINATION, 2012
BUSINESS ADMINISTRATION-II
(Human Resource Development and Marketing)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— All questions are compulsory.

1. What are the objectives and functions of Human Resource Management ?
[16]

2. Answer the following questions (any one) : [16]
(a¢) What are the types and objectives of ‘Training’ ?
Or

(b) What do you mean by VRS ? State the advantages and

disadvantages of VRS in view of an organization.

3. Answer the following questions : [2x8=16]
(a) What are the essential qualities of ‘Marketing Manager’ ?
(b) What are the objectives of ‘Quality Circles’ ?

P.T.O.



Or
(a) Explain the ‘Scope of Advertising’.
(b) What is ‘Marketing Research’ ?

4, What is Sales Promotion ? Describe various modern techniques of

sales promotion. [16]

5. Write short notes on (any fwo) : [2x8=16]
(i) E-Marketing
(ii) Kayzen
(iti) Objectives of Marketing

(iv) Performance Appraisal.

(WS wUIaR)
q% : o\ A TR T : 80

ol :—ud W e eRa.

1. HF9 999 HaRUEET w9 SfER T & [16]

2. YEIo WA SN AW (FUEE Th) [16]
(37) TRTE &G I TPR TR HA.
feRar

(9) YRaUe HaET-at =US ®E ? ST YRR iy Haad qead

UM HES F A TR H.

[4169]-306 2



3. Tdo WA SW ;W [2x8=16]
(37) oTeEt foque SFeReTIRE U TR HA
(d) TUEEl ddes (Ffed] Wehew) =@ e RO A ?
feRar
(31) el Al "okt THE .

() fagom @i = & ?

4., Torggedh WS &M@ ? famagedi=l SsMyfe T TR H [16]

5. Wiy dw fomr (Fo@R gF) [2x8=16]
(i)  $-HmeRien
(i) IR
(Gi7) fouorrEl Sfeee

(iv) HTEYIHTIA.

[4169]-306 3



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4169]-307

T.Y. B.Com. EXAMINATION, 2012
BANKING AND FINANCE
Special Paper II
(Financial Market and Institutions in India)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define Capital Market. Explain the structure and characteristics of
Indian Capital Market. [16]

2. Define Money Market. Explain the sub-markets and drawbacks of

Indian money market. [16]
Or

Explain in detail primary and secondary market in Indian Financial
Market. [16]

3. (a) Explain in detail the working of venture Capital Finance

Institutions. [8]

(b)  State the progress of State Industrial Development Corporation. [8]

P.T.O.



Or

(a) Explain the characteristics of Non-Banking Financial
Institutions. [8]

(b) Explain the progress of Unit Trust of India. [8]

4, State the establishment, working and progress of General Insurance
Corporation. [16]

5. Write short notes on (any fwo) : [16]
(i) Merchant Banking
(i1) Mutual Fund
(iiz) Industrial Finance Corporation of India

(zv) Provident Fund.

(TS TUIR)
q% : o A TR T : 80
g :— (i) WA WA STeRISR 3R
(i) ISEhele 3 qul O <Fifaar.
(iii) WSWHIS T TUSH WIAUCART el

1. ede dNNEl Al fegl dRdE viede aeiEr 1 9 diEiTse W
. [16]

2. AUENRET e fogl. aRdE ATvENReE STaSR 9A ST TS
. [16]

fwar
o~

ARAE Tl aoRdie. WAy o g2aH o9 9id&® &5 . [16]

[4169]-307 2



3. (31 URY vedo fodia TEI=N SRugdl s TR & [8]

(9) T SiEnfie fas™ Asemt W | [8]
ferar

(31) o FauE fafqa gral At T $. [8]

(d) 9RGE e TEE Wl TR 6. [8]

4., GOOHRU fom TEEScdl YA, HTA ST YT EL [16]

5. dfea feu femr (v S9) [16]

(i) THhed Tal dh HIEHE

(i) TR fAeR

({ii) YR ST foqaer Hemee
(lv) wfos farg e

[4169]-307 3



Total No. of Questions—35] [Total No. of Printed Pages—4

Seat

No. [4169]-308

T.Y. B.Com. EXAMINATION, 2012
BUSINESS LAWS AND PRACTICES
Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define wages as per the Payment of Wages Act. Explain the
authorised deductions from the wages under Payment of Wages

Act, 1936. [16]

2. Briefly explain important provisions under the Employees Provident

Funds and Miscellaneous Provisions Act, 1952. [16]
Or
State the provisions regarding contributions as per Employees State

Insurance Act, 1948. [16]

P.T.O.



3. (a)

(b)

(@)

(b)

(@)
(b)
(c)

(d)

[4169]-308

Explain the various powers of Inspector under the Payment

of Wages Act, 1936. [8]

State composition and duties of the ‘Competition Commission

of India’ as per Competition Act, 2002. [8]

Or

Define occupier of the factory. State General duties of the

occupier (Factories Act, 1948). [8]

State the provisions for appointment of Advisory Board and

Central Advisory Board under Minimum Wages Act, 1948. [§]

4. Discuss the provisions of the Factories Act, 1948 regarding the health
of the workers. [16]
5. Write short notes on (any fwo) : [16]

Current and capital account transactions [FEMA, 1999.]
Problems of application of Special Economic Zone Act, 2005.
Role of Securities and Exchange Board of India (SEBI).

Adjudication of disputes and claims as per Employees State

Insurance Act.



(WS wUIaR)
q% : o\ A TR T : 80

gaOd :— (i) WA WA STeRIS  3TRA.
(i) Sodhe® 3 qui O SFifer.

(iii) ERUEE! T TUST YFAUAh] TRTE.

1. o9 STl Aol HECER o= oAl |RM. odd 9 WSl IR, 1936

MG AAGH HL AUAT AP U TR FH. [16]

o o (o

2.  HHgI wfosy frafe et 9 3@ WAen $1el, 1952 Ao Hear= el

W H. [16]
fepar

HHARI TsF foam #ERT, 1948 JER ST gHRTETadeal didel U

EXip [16]

3. (31) Jdd UIEESGAT HIISI, 1936 I qUIHU ST¥ehard TR Ts
+q. [8]

(9) T HwEE, 2002 Y oYl STENTER AT ST hded T [8]
ferar

(31) HREAE Hoh A IR A 9. SREM HEEl, 1948 T8R

FHRET AIGHE] TOIRT shasd 9. [8]

() TRAM I FER, 1948 TIR Fo@NR HEes 3T wHhigd FoolR HED

AT AHUE] Sdel aRdal . 8]

[4169]-308 3 P.T.O.



4, HEFE HECS, 1948 G HRETANISG SO STREAeTEden fHam=)
Cici T [16]

5. g four fomr (o @F) [16]

(37) =g oMU ieas @ R (HHl, 1999)

() foRw smfdfer €1 S™EI, 2005 = AHSHASEUIAIG THE
(%) gfaget ewfor fafra deer=t i (Fsh)
(8) wHHA T fomT wRCUHERe foar o Sreaeeas =t

[4169]-308 4



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4169]-309

T.Y. B.Com. EXAMINATION, 2012

CO-OPERATION AND RURAL DEVELOPMENT
Paper II
(Co-operative Management and Administration)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define Co-operative Management. Explain the nature and scope of

Co-operative Management. [16]

2. Enumerate the impact of Co-operative Laws on Management of

Co-operatives. [16]

Or
Define Decision-making. State the importance of Decision-making in
Co-operative Management. [16]
3. (a) Explain the powers of Registrar of Co-operative. [8]
(b) Write a brief note on co-operative philosophy. [8]

P.T.O.



Or
(a) State the importance of Audit report of Cooperative Auditor. [8]

(b) Describe the characteristics of financial planning. [8]

4, What do you mean by Financial Management of Co-operatives ? Explain

the nature and importance of Financial Management of Co-operatives. [16]

5. Answer the following questions (any two) : [16]
(i) Explain the need of financial control in co-operatives.
(ii) Enumerate the nature of co-operative audit.
(ii1) Describe the powers of Co-operative Auditor.

(iv) Explain the various sources of finance to co-operative.

(AOE ®UI)

q% : A\ A TR T : 80
o :— () Wd WA el e SR
(i) ISEhele 3 qul O <Fifaar.

1. TRl HATATTAET RS 9. TEhN] HATATTAE ey MU et e
. [16]

2. Tehl] FIEAIAER. ghl hEcdrEl gud faze . [16]
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ferar
‘Frofyr gua=t’ AT WM. "R SO v emae (ol Srvem=h

TIdT) Hecd 9. [16]
3. (37) WEsr Feysm IfMeR T & [8]
(¥) Hehll dodM IR giesdd fedqr foer [8]
ferar
(37) TSN SENRIRT el TR Agaere Haed 9. [8]
(o) fafva AR STy frre . [8]
4. Tl fafdd gaeadd Wue i ? gl fafdd SJasa[e Wed ST
Hecd TS h. [16]
5. W WAl W W (HUE SF) [16]

o o o

(i) EEHRme fafga feEom=t TS w= w3
(i) HehNl oEl R WEy oy w7
(iii) WehNl o@l et AfusR foarre .
(jv) WehN™ fafay fafvd ¥ (AF) T .

[4169]-309 3



Total No. of Questions—35] [Total No. of Printed Pages—7

Seat
No. [4169]-310
T.Y. B.Com. EXAMINATION, 2012
COST AND WORKS ACCOUNTING
Paper II
(Overheads and Methods of Costing)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

1. @A)

(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

State whether the following statements are True or False : [5]

(1) Direct labour hour rate of absorption of overheads is
suitable where most of the production is done by using

machines.

(2) The time factor is ignored when the cost of material is

used as the basis for absorption of overheads.

(3) When actual overheads are less than the absorbed overheads,

it is the case of over-absorption.

P.T.O.



(B)

(4)

(5)

When contractee retains some amount out of certified work,

then it is called as uncertified work.

The cost of abnormal process loss is not included in the

cost of the process.

Fill in the blanks : [5]

(1)

(2)

(3)

(4)

(5)

Under absorption/over absorption of overheads takes place

when.......ccoooeeevvnnns rate of absorption is used.

A cost is termed aS.....cccccoeeenenen... cost if the total of the

same does not change with changes in the activity level.

Where the actual loss in a process is less than the anticipated
loss, the difference between the two is considered to

be.oiiiiiiii, .

When profit is 1/4 of the selling price of a job, it is equal

170 OSSR of its cost price.

........................ is that form of operation costing which applies

where standardized services are rendered.

What is Activity Based Costing ? Explain purposes and benefits of

Activity Based Costing. [15]

Or

What is Job Costing ? Explain its features, advantages and

limitations. [15]

[4169]-310



(@)

(b)

(c)

(d)

(e)

4. (A)

[4169]-310

Write short notes on (any three) :

Features of Service Costing.
Abnormal loss in Process Costing.
Profit on incomplete contract.

Joint products and by-products.

Escalation clause in contract costing.

[15]

A company has 3 production departments A, B, C and

2 service departments D and E. The following data are

extracted from the records of the company for a particular

given period :

(@) (i) Rent and rates
(i) General lighting
(iiz) Indirect wages
(iv) Power
(v) Depreciation on machinery

(vi) Sundries

Rs.

25,000

3,000

7,500

7,500

50,000

50,000

[15]

P.T.O.



(b) Additional data :

Particulars Total Production departments | Service
departments
A B C D E
Direct Wages
(Rs.) 50,000 15,000 | 10,000 | 15,000 7,500 | 2,500
Horsepower
of machines 150 60 30 50 100 | .....
Cost of
machinery (Rs.) [12,50,000 |3,00,000 | 4,00,000 | 5,00,000 | 25,000 | 25,000
Production hours
worked  |....... 6,226 4,028 4,066 | coeeeeen | e
Floor space used
(sq. mtr.) 10,000 2,000 2,500 3,000 2,000 | 500
Lighting points 60 10 15 20 10 5
(c) Service department’s expenses allocation :
A B C D E
D 20% 30% 40% — 10%
E 40% 20% 30% 10% —

[4169]-310

You are required to compute the overhead rate of production

departments using the repeated distribution method.

4




(B)

5. (A

[4169]-310

The following information is extracted from the job ledger in
respect of Job No. 333 from the books contractor. [5]

Materials Rs. 3,400
Wages 80 hours at Rs. 20 per hour
Variable overheads incurred for all jobs Rs. 5,000 for 500 labour

hours

Calculate the cost and the price for the job to give a profit
of 20% on selling price.

A product passes through two processes. The output of process
I become the input of Process II and the output of process
IT is transferred to warehouse. The quantity of raw materials
introduced into Process I is 20,000 kg. at Rs. 10 per kg.

The cost and output data for the month under review are

as under : [10]
Process 1 Process 11
Direct materials (Rs.) 60,000 40,000
Direct Labour (Rs.) 40,000 30,000
Production overheads (Rs.) 39,000 40,250
Normal loss 8% 5%
Output (kgs.) 18,000 17,400
Loss realization Rs./kg. 2.00 3.00

The company’s policy is to fix the selling price of the end
product in such a way as to yield a profit of 20% on selling

price. Prepare process accounts and determine the selling price

per kg. of the end product.

5 P.T.O.



(B)

[4169]-310

A firm of building contractors began to trade on 1st April,

2010, the following was the expenditure on a contract for

Rs. 4,50,000 : [10]

Rs.
Material used to contract 76,500
Plant used for contract 22,500
Wages 1,21,500
Other expenses 7,500

Cash received on account up to 31st March, 2011 amounted
to Rs. 1,92,000, being 80% of the work certified. Of the plant
and materials charged to contract, plant costing Rs. 4,500 and
materials costing Rs. 3,750 were lost. On 31st March, 2011
plant costing Rs. 3,000 was returned to stores, the cost of
work done but uncertified was Rs. 1,500 and material costing
Rs. 3,450 were in hand. Charge 15% depreciation on plant,
reserve 1/3rd profit earned and prepare Contract Account from
the above particulars.

Or

The X Transport Ltd. operates a fleet of trucks. The records
for Truck No. XXX, reveals the following information for September

2011 : [10]
Days maintained 30
Days operated 25
Days idle 5
Total hours operated 300
Total kms. covered 4,500
6
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The following further information is made available :

(@)

(b)

(c)

(d)

Operating cost for the month :

Petrol Rs. 12,000; Oil 1700; Grease Rs. 900; Wages to Driver
Rs. 5,500; Wages to Cleaner Rs. 3,500

Maintenance cost for the month :

Repairs Rs. 1,700; Overhaul Rs. 600; Tyres Rs. 1,500; Garage
charges Rs. 1,000

Fixed cost for the month :

Insurance Rs. 500; License tax etc. Rs. 800; Other overheads

Rs. 2,300
Capital cost :

Cost of acquisition Rs. 7,00,000; Residual value at the end
of 5 years life is Rs. 1,00,000.

Prepare cost sheet and compute :
(a) Cost per day maintained;

(b) Cost per day operated;

(c) Cost per kilometer; and

(d) Cost per hour.



Total No. of Questions—35] [Total No. of Printed Pages—8

Seat

No. [4169]-311

T.Y. B.Com. EXAMINATION, 2012
BUSINESS STATISTICS
Paper II
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iii) Use of calculator and statistical tables is allowed.

(iv) Symbols and abbreviations have their usual meanings.

1. (A) Attempt any four of the following : [2 each]

(a) Give any two real life situations where Poisson distribution

can be used.

(b) If a random variable X follows binomial distribution with
mean 4 and variance 2.4, find the values of the parameters

n and p.

(¢c) If A and B are any two independent events with

PA U B) =08 and P(B) = 0.5, find P(A).

P.T.O.



(d) Find the value of :
1
(e) Define the term Economic Order Quantity (EOQ) used in

inventory control.

(f) State whether each of the statements given below is True

a False :

(i) IfX andY are two independent discrete random variable

(DRV) then :
Var(X - Y) = Var(X) — Var(Y).
(i1) The value of probability cannot be negative.
(B) Attempt any #wo of the following : [6 each]
(@) Given P(A) = 0.6, P(B) = 0.7 and PA U B) = 0.9, find :
(@) P(B)
@) PA n B)
(zit) P (B/A).

(b) A hospital switch board receives on an average 4 emergency
calls in 10 minutes interval. Using Poisson distribution find

probability that :
(1) there is no call in an interval of 10 minutes ?

(11) there are at most 3 calls in an interval of 10 minutes ?

[4169]-311 2



(c) A dealer supplies the following information with respect

to a product :

Annual demand : 10,000 units
Ordering cost : Rs. 10 per order
Price per unit : Rs. 20

Inventory carrying cost : 20%

Back order cost : 25%

Determine :

(1) The optimal order quantity.
(ii) The optimal back order quantity.

(z11) Total variable cost.

2. Attempt any #fwwo of the following : [8 each]

(@)

(b)

[4169]-311

Explain the following terms giving one illustration :
(i) Mutually exclusive events

(ii) Probability of an event

(iti) Discrete random variable

(iv) Probability distribution.

(i) Xis a discrete random variable with probability mass function

(p.m.f.)

PIX =x] = ; x=1,2,3,4,5

x
15
0 ; otherwise

Find E (X) and Var (X)

i) X —- N(@2, 4) and T = 3X + 9, find E(T) and Var (T).

3 P.T.O.



(¢c) The joint probability distribution of (X, Y) is given by :

Y X -1 0 +1
2 K 2K 2K
3 3K 3K 4K
4 2K 2K K
Obtain :

(i) The value of K

(i) Marginal probability distribution of X and Y

(iiz) Conditional probability distribution of Y given X = 0
(iv) Var (X).

3. Attempt any o of the following : [8 each]
(a) (i) State advantages of sample survey over census survey.

(ii) Write a short note on ‘systematic sampling’.

(b) Fill in the blanks of the following ANOVA tables marked

« ” .

Source of Degrees of | Sum of Mean sum | Variance
variation Freedom Squares of squares ratio
Between Machines 4 100 — —
Between Workers — — 40 —
Error 12 120 —

Total — —

Test the homogeneity of machine types and workers at 1%

level of significance (l.o.s.).

[4169]-311 4



(c)

(D

(ID)

Daily wages of 1,000 workers in a factory are normally
distributed with mean wage Rs. 150 and standard deviation
(S.D.) 15. Estimate the number of workers having daily

wages :

(i) between Rs. 140 and Rs. 160

(i) more than Rs. 150.

Explain the following terms used in testing of hypothesis :
(1) Null hypothesis

(i) Level of significance

(i17) Test statistic

(iv) Type II error.

4, Attempt any o of the following : [8 each]

(@)

[4169]-311

(2)

(i1)

An oil exploration firm finds that 5% of the test wells
it drills, yield a deposit of natural gas. If it drills 6 wells,
find the probability that at least one well will yield natural

gas.

A machine produces 16 detectives in a sample of 500 articles.
After overhauling, it produced 3 defectives in a batch of
100. Is there any significant difference in the performance

due to overhauling ? Use 5% level of significance.

5 P.T.O.



b)) @)

(i1)

() @)

(i1)

In a hypothetical population the values of units are 7,
13, 15, 17 and 20. Write all possible samples of size 2
by using the method of Simple Random Sampling Without
Replacement (SRSWOR) from this population and examine
whether the sample mean is an unbiased estimator of

population mean.

A computer operator claims that she can type at the rate
of 100 words per minute on an average. In 10 trials, she
typed at an average rate of 116 words with a standard
deviation of 15 words. Can we accept her claim at 5%

level of significance (l.o.s.).

Explain in brief 2 test of independence of two attributes

for 2 x 2 contingency table.

Two random samples are drawn from two normal populations

and the following information is obtained :

Sample Sample Sum of Sample Sum of squares
No. Size observations of sample
observations
I 9 9.6 61.52
II 11 16.5 73.26

[4169]-311

Test whether the two populations have equal variances.

Use 5% level of significance.



5. Attempt any #fwo of the following :

(@)

[6 each]

In survey on the area under a crop, 186 villages in a district
was divided into 4 strata. The area under the crop in selected

villages was noted. The following is the information about survey :

Stratum | Stratum | Sample Area under the crop in the
No. Size Size villages selected in sample
(N;) (n;)
1 72 8 14, 12, 8, 11, 12, 10, 13, 16
2 53 5 27, 20, 21, 22, 30
3 35 4 36, 46, 52, 61
4 26 3 92, 105, 82

(b)

[4169]-311

Obtain estimate of :
(i) each population stratum mean
(ii) population mean
(iii) population total.

A certain machine is supposed to produce red, yellow and
green candy wrappers in the ratio 4 : 3 : 2. In a sample
of 90 wrappers produced by the machine were observed to

be 31 red, 38 yellow and 21 green. Is the machine working

properly ? (Use 5% level of significance).

7 P.T.O.



(¢c) The following are the weekly losses of work hours due to
accidents in industrial plants before and after a certain safety

program was put into operation :

Plant No. Before After
1 45 36
2 73 60
3 46 44
4 124 119
5 33 35
6 57 51
7 83 77
8 34 29
9 26 24

10 17 11

Test whether the safety program was effective. (Use 5% level

of significance).

[4169]-311 8



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4169]-312

T.Y. B.Com. EXAMINATION, 2012
BUSINESS ENTREPRENEURSHIP
Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Business Plan ? Explain technical, marketing and financial

feasibility of business plan. [16]

2. Explain various Business Crises. [16]
Or

Write a detailed note on Business Networking. [16]

3. (a) State functions of Maharashtra Industrial Development

Corporation (MIDC). [8]

(b) Write a note on Marketing Management. [8]

P.T.O.



Or
(a) Explain importance of Market Survey. [8]
(b) Describe the success story of Venkat Krishnan, Give India. [8]

4, State the causes of Industrial sickness and discuss remedies to remove
it. [16]

5. Write short notes on (any fwo) : [16]
(i) Maharashtra Centre for Entrepreneurship Development (MCED)
(i1) Personnel Management
(iti) Venture Funding

(zv) Critical Path Method (CPM).

(W& wUIaR)
q% : o\ A THU T : 80

ol :— (i) Wd WA ANEE sTRd.
(i) STERel® 3k YA YU 0 SFifedm.
(iii) WSWHIS T TUSH WIAUCART el

1. EEE A RUNS ®E d A FEHEE i, fauE et effiie dvreran
W HA. [16]

2. oMo fafay e T & [16]
feRar
fafgme ¥ea@ll  (Business Networking) IR HfowR <9 fear. [16]
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3. (a)
(b)
(@)
(b)
4.

(2)
(it)
(i17)
(iv)
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TERTe SiEfeh fom Heart ® ™ 9.

foque FEEUEER. A9 .

fepar

ISERUSITRUT < Heed T Hil.

ghe HWHE, g TS A=A FWImAE Ui F

RN TSRO &R0 WA e SU™ At == .

gfeg Ja forl (R @9)

TR SR fawE &%

FHIAR LTI

Ry vieds

e Ur gl

[8]

[8]

[8]

[8]

[16]

[16]



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4169]-313

T.Y. B.Com. EXAMINATION, 2012
MARKETING MANAGEMENT
Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain challenges before Marketing Manager in Globalisation. State

methods to manage challenges to change. [16]

2. State the concept of “consumer satisfaction”. Discuss need and

importance of consumer satisfaction. [16]
Or

What is consumer behaviour ? Explain factors influencing consumer

behaviour. State need for studying buyer behaviour. [16]

3. () Explain impact of Marketing on Society and Business. [§]

(b) State future of Industrial Marketing. [8]

P.T.O.



Or
(a) Explain function of Retail Marketing. [8]
(b) State recent trends in Global Marketing. [8]

4, State need of International Marketing and explain difference between

Domestic Marketing and International Marketing. [16]

5. Write short notes on (any fwo) : [16]
(a) Classification of Retail units.
(b) Trends in Retail format.
(¢) Industrial Marketing strategy.

(d) Social criticism on marketing.

(WS TUIaR)
q% : A A TR T : 80

o :— (i) WA YT Giefau STeRds SR
(i) ISEhele 3 T qU U SFifaar.
({ii) WSWHIE T TUSH WIAUCART el

1. ST deh R o= Gfshadies faquM Saaeaden] TURIG AR T Y o deadl

TRferdidie STeMAT MR SUvI=al 9gdl 9. [16]
2. “‘Us® gHYUE" HHhoUul TR HU. Uesh HHIMMTET SAEEIdshdl o Hed ATo]
== R [16]
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fepar

ek o WU 1A ? Ugeh SR YW WIS EEeh WA UTeeh oo

HAMEE ARl T H. [16]

(31) TIqUETE FHETER o HIHEER SOR GROMH ¥ 6. [8]

(@) oiEifes foqomme vfaaes | [8]
feRar

(31) Toridles faquA™ %™ T . [8]

(9) wmiaes foquAr ey Yae | [8]

o a fa o

S fAIUART SAEdehal A T o TS [qIUARe e T
. [16]

dfge du fom (PR @) [16]

(31) forihles fasmihga THR;

n

(F) Tl fawl TEde 946,

(F) ofEfies foumrde S,

(8) foyvHEe gmifse  fooh.
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Seat

No. [4169]-314

T.Y. B.Com. EXAMINATION, 2012
AGRICULTURAL AND INDUSTRIAL ECONOMICS
Special Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Explain the role of agriculture in Indian economy. [16]
2. Critically evaluate the land reforms in India. [16]
Or

State the institutional sources of agricultural finance. Explain the

problems of agricultural finance in India. [16]

3. (A) Explain the scope of agricultural processing in India. [8]
(B) Explain the progress of Engineering Industry in India. [§]
Or
(A) Describe the problems of agricultural labour in India. [§]
(B) Explain the problems of pharmaceutical industries in

India. [8]

P.T.O.



4, State the problems of Industrial Finance. Explain the role of IDBI
in Industrial Finance. [16]
5. Write short notes on (any fwo) : [16]
(1) Agricultural unemployment and EGS.
(2) Role of small scale industries in India.
(3) Social security schemes and labour welfare.
(4) Argument for and against privatisation.
(WS T UTHR)
9% : dF a™ THOT 0T : 80

oAl :— (i) §d WA EEgs  STed.

1.

(i) IoEREl® 3T U IO SFifadm.

IR sifeeddie  Tidel  fyet T & [16]

IRAM®G SHH GUROTd i Joddde &, [16]
feRar

Fo foiaca™ TEII® ® AR MRAe St foaqiasaren  aue

e hA. [16]

(1) 9Rdkle  IIAETE Yfshan IR ATl € k. [8]

(9) YRANTe ST ST Wl o 6. [8]
feRar

(37) 9INAMIG  Ilausieal 9Hen faRe & 8]

(9) 9Radie SiudicaeT STR=n 9o T . [8]
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4, SEfE foRecaren e . SiEife foaRacardie aRdE oieifin
fowm o=t (IDBI) YfHsht T &3 [16]

5. dieqd four fogr (o @F) [16]

(1) Ididie ot AT TS gHE IS

(2) YRAe @Y A e
(3) HmIfSIsh GIfErdar ST S0 HIEIR ShedTol.

(4) CISTIRTA] N A foeg i,
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Seat

No. [4169]-315

T.Y. B.Com. EXAMINATION, 2012
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Paper 1II
(Defence Production and Management in India)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]
(1) What do you mean by management control ?
(2) Define ‘Threat Perception’.
(3) Define ‘War potential’.
(4) Write the full form of DPSU.
(5) Define Defence Budget.
(6) State the meaning of Industrial Policy Resolution.
(7)  Define Logistics.
(8 What are the means of weapon procurement ?
(9) Explain the meaning of strategic control.
(10) Write any fwo methods of War Finance.

P.T.O.



(11)

[4169]-315

What are the functions of Ministry of Defence ?

(12) Write any two functions of Logistics Planning.
(13) Define ‘Development’.
2. Answer in 50 words each (any two) : [10]
(1) Explain organisational aspects of Decision-making.
(2) Write a note on the Industrial Policy Resolution of 1948.
(3) Discuss scope of Defence Management.
(4) Write aims of Defence Public Sector.
3. Answer in 150 words each (any fwo) : [20]
(1) Write a note on Defence Vs. Development.
(2) Explain role of Private Sector in Defence Production.
(3) Discuss Logistics Management for Indian Defence.
(4) Explain effects of war on society.
4, Answer in 300 words each (any fwo) : [30]
(1) Explain relationship between War and Economy.
(2) Discuss problems and prospects of Arms Production in
India.
(3) Explain political aspects of Defence production.
(4) Analyse the causes of increasing India’s defence expenditure.

2



(W& EUIR)

q% : dE A TEHUT T : 80
o :— (i) §d WA diefau TeRds R
(i) SoehEle 3w ol U eFifaa.

1. 20 IEE SN N (HIUCE <T@ e [20]

(1) TEUhE e BN &8 ?

(2) ‘Ol Ghoddl T
(3) ‘'ggHAl A S

4) fedway =3 g wey feel
(5) TV SRNYAG AT I

(6) AN RoTaTEder @ Ad T AL

(7)  YE3T HIRAYT Aredr .

(8) I Ydad= fafaw =R w2
(9) Umi& = s T &
(10) 3R FwREAFEEAT &M Ygdl ol

(aV

(11) WU FAGAET HOCR G HE TS H

SN

(12) @A Faeoq FEeEe Sl g1 s fol.

(13) faw™E = @@

2, 50 I=M SW T (FORET @A) [10]
(1) ol gl gueTs g o= &
(2) 1948 3= SRUmaTEd=n SUd AeR fequ fomr.

(3) HIEIU HXATIUT] ATEldEd =i k.

~

(4) fewbd U=bler ToR= 7q femr
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3. 150 I SW T (FIUNEN BM) e [20]
(1) e enfor fawg oo foloym g fegqur o

(2) HEU IORAS UEeRe eRedEl i T .

(3) YRATA WAVEHEENG [Eal HAGEAdT<l == .

(4) IS FHSTER HUR qROMM e 6.

4, 300 I SW oA (HUGE EE) [30]
(1) 9§ o Ideqasen Ao 9dy T &

(2) YOS IS SARAETsd= gH& 3Tfor vfades aremeld == .

(3) WU IURAEETH TSehid Ugg T FH.

(4) YR WAUENS  ARUIEAT Sl hIROHHET .
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4169]-316

T.Y. B.Com. EXAMINATION, 2012
INSURANCE, TRANSPORT AND TOURISM
Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Describe in detail the claim settlement procedure of Life

Insurance. [16]

2. Distinguish between Nomination and Assignment. [16]
Or
Explain the comparative study of Private Insurance Companies Versus

Government Controlled Insurance Companies. [16]

3. (A) Write a brief note on Life Insurance Corporation Act, 1956. [8]
(B) Explain the objectives of Insurance Regulatory and Development
Act, 1999. [8]
Or
(A) Explain the main provisions of Insurance Act, 1938. [8]
(B) Write a brief note on savings plans of Insurance Business. [§]

P.T.O.



4, Define General Insurance. Explain in detail the various conditions

of General Insurance Contract. [16]

5. Answer the following questions in brief (any two) : [16]
(1) Explain the Accidental Benefits of General Insurance Contract.
(2) Describe the main provisions of General Insurance
(Nationalization) Amendment Act, 2002.
(3) Write a note on Instalments Revival Scheme of General
Insurance.

(4) Explain the methods of payment of General Insurance.

(AOE ®UI)

q% : dE A TEHUT T ;80
T :— () ¥ YA Hiefou sferasd .
(ii) SENFET S U T SFiaa.

~

1. ogfd=m=t Jeam WU fHefavart sriugd fe/re wa [16]

2. 9R&E  (Nomination) U @R 9 (Assignment) M@ TlH
e HAL [16]
feRar

e fam e forg Warl festa fom &d=n ame=n o ST

oW . [16]

3. (31) ‘1956 AW HEHE® wERI AR ded| fou fomn [8]
(F) 1999=n Tour faHATcHe 37Ul foehid shigcar=l e W &d. [8]
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feRar
(31) 1938=a1 faWl wEI=A TE TGl TR HA [8]

() fou =Fa@EEe s=d S (saving plans) IR dieera feu

o [8]

4., HEHERY foREl SR 9[H, FEWERe fom e fafay ot |fewr

W H. [16]
5. WOe FAEl gedd S ow (H0PE dF) e [16]
(1) 9d R fam sUdie sToErt ®Re (Accidental benefits) T

.

(2)  2002=A1 HeHHRY fom ™ (USERARIU) FURUT FRCUE THE
el fere =

(3) HaqER famrde ‘gd gI@iY sl (Instalments Revival Scheme)
TR feu fem

(4) GeEERY fo=mEt 39 Jva Eevidle gsdl TR &
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Seat

No. [4169]-317

T.Y. B.Com. EXAMINATION, 2012
COMPUTER APPLICATION
Paper 1II
(RDBMS, Networking, Internet and E-commerce)

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iit) Neat diagrams must be drawn wherever necessary.

1. (A) Consider the following table and solve the following queries
(any four) : [8]
Customer(cno, cname, cadd, cbal)

(1) List the Customer details whose address is ‘Pune’.

(i) List the Customer name in descending order.

(izi) List the Customer details whose balance greater than
7000.

(iv) List the Customer name whose First letter is ‘R’.

(v) List the Customer details whose address is ‘Pune’ and

balance is less than 5000.

P.T.O.



(B) Write syntax and use of the following Commands
(any four) : [8]
(i)  Create
(i) Update
(iti) Alter
(iv) Delete
(v)  Revoke.

2. Attempt any four of the following : [16]
(i) What are limitations of file processing system ?
(ii) Write a note on Procedure used in PL/SQL.
(i) What is Internet ? Explain its different services.
(iv) Explain the Financial EDI.
(v) Explain Modified Water Model in Web process.

3. Attempt any four of the following : [16]
(i) What are the advantages and disadvantages of DBMS.
(ii) Explain the Electronic Payment System (EPS).
(iit) Write a note on Image Map.
(iv) Explain Entity Relationship Diagram.
(v) Explain Computer Network with its goals.

4, Attempt any four of the following : [16]
(i) Explain hyperlink and order list tag with example.
[4169]-317 2



(i1)
(ii1)
(iv)
(v)

(2)

(i1)
(ii1)
(iv)
(v)

[4169]-317

Write a short note on Page Size and Page Margin.

Explain the different data types used in PL/SQL.
What are the components of DBMS ?

Explain the role of E-commerce.

Attempt any four of the following :

Write a HTML to display the following information :

Student Details
Rollno Student name | Saddress | Sclass Sfee
1 Rajesh Nashik SYBCOM | 1500
2 Sachin Nagar TYBCOM | 1500
3 Sunita Pune FYBCOM | 1500
Explain the different types of Payment system.
What are the use of Entrance and Exit Page in Web 7

Write a note on Cyber Law.

Explain different types of Users (Database).




Total No. of Questions—6] [Total No. of Printed Pages—3

! [4169]-318
T.Y. B.Com. EXAMINATION, 2012
BUSINESS ADMINISTRATION
Paper III
(Finance, Production and Operations Functions)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Capital Market ? Explain constituents of Capital

Market.

[14]

2. What is Financial Planning ? Explain important steps in Financial

Planning. [14]
Or
What is Finance Function ? Explain the importance of Finance Functions
in business. [14]
3. (A) State the causes of overcapitalization. [7]
(B) State objectives of Plant Layout. [7]
Or
(A) What are advantages of Public Deposits ? [7]
(B) What are Modern Material Handling equipments ? [7]

P.T.O.



4, Define the term ‘Production Management’. Explain the functions of

Production Management. [14]

5. Write short notes on (any fwo) : [14]
(a) Scheduling
(b) Uses of Computers in Inventory Management
(¢) Principles of Material Handling
(d) Supply Chain Management.

6. State reasons behind fluctuations in the shares prices in Indian
Share Markets. [10]

(AOE ®UI)
d9% : o9 a™ THOT 0T : 80
M :— (j) T WA SAeRIR  3TRA
(i) e s o T gl
({ii) TEUESt g3 TUSH WIAUCAhT U=l

1. 9Edo dNR WIN & ? 9Yiedd dFNNdie UeYNl Ueh W2 &y, [14]

o N o N

2. fadta s = & ? foxdia faieHdie 9gdr=n aE=ar wqse

EXA [14]
ferar

foxita &1 oSl $1™9 ? F99E G foaxiia &Eid d9gwd e

EXA [14]

3. (1) SIfyaSISIHOTE HRO O [7]

(9) e 3fes | [7]
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ferar
N o N
)

(31) WESeh S HER I

[7]

() MY HIG BIdleeUil HEH IOl ? [7]
4. 'IART FORAOH' A GIHl HRAT . IR HOEATIATE hid TS

. [14]
5. dewa four four (v 9F) [14]

(31) FPed®  (Scheduling)

() Gt OS] G0 SUAN

(&) WIS Tl o

(8) YEd TRgcsl  SHEETIH.
6. YA YNENHE M= fhAdiAed 9esdR Bogmi iRol Erm. [10]
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Seat

No. [4169]-319

T.Y. B.Com. EXAMINATION, 2012
BANKING AND FINANCE
Special Paper III
(Banking Law and Practice in India)

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Negotiable Instrument ? Explain in detail types of Negotiable

Instruments. [14]

2. State and explain rights and duties of a collecting bankers. [14]

Or
Explain in detail Banking Regulation Act, 1949. [14]
3. (A) Explain modes of Creating Charges. [7]
(B) Explain Bankers obligations to honour cheques. [7]

Or
(A) Explain precautions, a bankers must take while advancing loan
against real estate. [7]
(B) Explain types of Mortgage. [7]

P.T.O.



4, What is Project Appraisal ? Explain the various aspects of project

appraisal.

5. Write short notes on (any fwo) :

(D)
(2)
3)
(4)

Life Insurance Policy
Garnishee order
Banker as a Debtors and Creditors

Lok Adalats.

[14]

[14]

6. Explain the role of various Banking Acts controlling on Banking

sectors.

(WS ®aial)

q% : o A
M :— (j) T WA SAeRIR 3R

(i) SSEhSle 3k TR YU O GFifaar.

({ii) WTRUES! HB3 TUSH WIAULIRI Tl

[10]

TEOT T ;80

1. o™ TEUaS WIS &

< .

2. TgIEHRE YRR T Hdsd WM T TR HA.

fepar

dfRTT fmE hrEel 1949 GfosR W& .
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? Io8H TUAed YhR GfawR e

[14]

[14]

[14]



3. (31) Heur fEo wvIrEn ggdt W &AL [7]
()  YARIMET AT HLOAEEd dhaie e T H. [7]
ferar

(31) TN HIGHWAR ksl <dMl Shid O] @eRell TR U, [7]

() 7RO YhR T . [7]

4. UHcd HIHYT WU HE ? Thed HoIHIArAl fafay e diewdw s

. [14]
5. dewEd foo fegr (foEd d9) [14]

(1) gfdm 9=

(2) HIgRIET SR

(38) AF-ZBURI d IR

(4) % 3.

o

6. dfwn &mmer fasw Sauarardt de=n fafay wmew=t gfaer fare

EX [10]
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Total No. of Questions—®6] [Total No. of Printed Pages—4+2
Seat
No. [4169]-320
T.Y. B.Com. EXAMINATION, 2012
BUSINESS LAWS AND PRACTICES
Special Paper III
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Figures to the right indicate full marks.

(ii) All questions are compulsory.

1. Explain the sources of Government Revenue and Role of direct and

indirect taxes in the development of a country. [14]

2. Explain the meaning of excise duty with various types of excise
duties. [14]

Or

Explain the following terms : [14]

(a)
(®)
(c)
(d)

3. A

Concept of service tax

Input Goods, Input Services and Capital Goods
Territorial Waters and Customs Waters
Concept of VAT.

Find Assessable value and duty payable. The product is not
covered under section 4A.

Maximum Retail Trade Price Rs. 1,100 per unit. State
Vat Octroi and other Local Taxes : 10% of net price Cash

P.T.O.



Discount : 2%, Trade Discount : 8%, Primary and Secondary
packing cost included in the above MRP Rs. 100, Excise duty
rate 8%, ad valorem plus education cesses as applicable. [7]
(B) Thunder TV Ltd. is engaged in the manufacture of colour television
sets having its factories at Bangalore and Pune. At Bangalore
the company manufactures picture tubes which are stock
transferred to Pune factory where it is consumed to produce
television sets. Determine the excise duty liability of captively
consumed picture tubes from the following information :
(1) Direct Material Cost (per unit) Rs. 600,
(2) Indirect Materials Rs. 50,
(3) Direct Labour Rs. 100,
(4) Indirect Labour Rs. 50,
(5) Direct Expenses Rs. 100,
(6) Indirect Expenses Rs. 50,
(7)  Administrative Overheads Rs. 50,
(8) Selling and Distribution Overheads Rs. 100.
Additional Information
(1) Profit Margin as per the Annual Report of the company
for 1999-2000 was 12% before Income Tax.
(2) Material Cost includes Excise Duty paid Rs. 100.
(3) Excise Duty Rate applicable is 16% plus education
cess 2%. [7]
Or
Explain the historical background of VAT with its merits and demerits.
Explain the evolution of VAT. [14]
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4, (A) Mr. Deshpande, Cost Accountant rendered taxable service to
Vishwa Cement Ltd. In this regard the company sent 200 cement
bags free of cost, for the House Construction of Mr. Deshpande.
Explain how the value of the taxable service will be determined
in this case. Will your answer be different if the service had
been rendered free of charge ? [7]

(B) Mr. X, a manufacturer, sells goods to Mr. B, a distributor
for Rs. 2,000 (excluding of VAT) Mr. B sells goods to
Mr. K, a wholesale dealer for Rs. 2,400. The wholesale dealer
sells the goods to a retailer for Rs. 3,000 who ultimately sells
to the consumers for Rs. Rs. 4,000.
Compute the Tax Liability, input credit availed and tax payable
by the manufacturer, distributor, wholesale dealer and retailer

under Invoice method assuming VAT rate @ 12.5%. [7]

5. Write short notes on (any fwo) : [14]
(a) Basic of Assessable Value
(b) Meaning and general highlights of CENVAT Scheme
(c) Provisions in respect of concessions to SSI

(d) Exemption/Restriction on baggage.

6. Explain the provision relating to filing of returns and payment of

tax under VAT. [10]
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(W& EUIR)
d% : o9 a™ THOT 0T : 80
I :— () IoahEle Adh YU O it
(i) W& WA ANEHE R

1. Wl WYS (Government Revenue) fHesfovara fafay #mi s .

we formde T@d 9 AYEY e YfHeRl TR & [14]

2. 'O I[Ch WIS d GFH SARA ok fafd¥ YR TR HA. [14]
feRar

GAS Ghedl T2 h : [14]

(31) TR Heheo

() @@ &) (Input Goods), 38 ¥l (Input Services) 3T WEad
K (Capital Goods)

(%) &A1 Sy (Territorial Waters) 37U iRk S@¥  (Customs
Water)

(¥) Hogatda &t (VAT) Hehoddl.

3. (31) HFERU oI oMU A I[ooh @l SARA Hod 4(37)  Iad

"

gHIfase  ATal.

FAE fhide fhAd 1,100 & Thl; Tod Hodardd &l ST Sieha

10% (fieies fRud=a); @ sl (Cash Discount) 2%; SURI ded

(Trade Discount) 8%; Wiafisr 3mfur fgdizes oot w< (alie foadia

gafase) 100 T AR [k X &% (IReEEER) sfuw i

AR, [7]
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()

get foft fofiees & &oft Tia iasamt w=e=t Ffd &@. o=
FHREM GO ST Fge 39 3Med. oFTge I9 ol e 2ga o
FHA AN == ST qU Jefie wREmE Qiasert gere HfHG

FLOIES! hedl Sdl. Wole Hiigdreal STER 39 3Ided ok (TR

SJoHEl)  hIQ

(1) vog gl 9™ (Tdsi) 600 ©,
(2) Iy 9 Uied 50 .,

(3) Y@y " 100 T,

(4) 3YIY A 50 T,

(5) TI&F @@= 100 %,

(6) SHIYT TE 50 T

(7) WEsE @9 50 %,
(8) fawml 3 foaro ==& 100 %.

Iferer Wit :

(1) % gHO (i STgare 1999-2000 THR) TR SISTleei-

et 12%.
(2) Tt oRemame) IdRd P 100 T fooo o
(3) WA Ik X 16% EE el SAfHuR 2%. [7]

fepar

qedafdd el Ufaerfis dReyHl @ wER o diedrde e .
qada &=t (VAT) it (evolution) ¥ . [14]
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4. (31) =@EEH 9REm aRe®  (Cost Accountant) R . <Fmre fozan
fafic o1 ®U HWH A1 A AN GSAd hUHH  SITIISIT
WaguiEEer 200 foie fRmen ded Rigewr. o1 uRkfeerda dams=t
fora #=ft @@ ? ST a1 R [Rae! 86 W HE BH
qes ? [7]

() 1 ww @ Sucen @ ‘s’ @ 2,000 T fRwden g foeme
(qouafdid VAT sha=n amed qaeRt J@) fi &t 3 e s
. ‘s W g 2,400 T & fahcdl. HSeh HANORM UM A&
3,000 % feudiar e fopame fasen faee fagam &
wg 4,000 T @ IuFA@ faehe.
@ RN Tddh TEe (3MEH, faadie, e AR ST
fortehles SAMURY) wcfa ff=d w0 (qeuafdd R X @ 12.5%
TR ). [7]

5. dewm fon fem (Fowe dF) - [14]

(37) HURIA geawel Jode  (Basic of Assessable Value)

() CENVAT =1 ot g afime

(F) THSTUNAT STHUA Haedio  WJsl

(8) dieele 99 fear @aed!  (Exemption/Restriction on baggage).

6. TAM ® (VAT) diq faoromgs sRudrear ool &l wROgr=al aiqal

el
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Total No. of Questions—6] [Total No. of Printed Pages—3

Seat

No. [4169]-321

T.Y. B.Com. EXAMINATION, 2012
CO-OPERATION AND RURAL DEVELOPMENT
Paper III
(Co-operative Marketing Management)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define Marketing Research. Explain the scope and need of Marketing

Research in Co-operatives. [14]

2. Define Co-operative Marketing. Explain the different types of
Co-operative Marketing. [14]

Or
Define Marketing. Explain the scope and elements of Marketing. [14]

3. (A) Write a brief note on ‘Sugar Processing Co-operatives’.
(B) Explain the advantages of State Co-operative Consumer
Federation. [14]
Or
(A) Explain the objectives of the Agricultural Produce Marketing
(Development and Regulation) Act, 2003.
(B) Write a brief note on Co-operative Produce Marketing. [14]

P.T.O.



4, Describe in detail the objectives and performance of NAFED
(National Agricultural Co-operatives Marketing Federation of

India Ltd.). [14]

5. Answer the following questions (any two) : [14]
(1) Explain the functions of Agricultural Produce Market
Committee.
(2) Describe the main features of Agricultural Produce Market
(Regulation) Act, 1963.
(3) Write a note on Organizational setup of NAFED.
(4) Explain marketing strategy of cooperatives for Exporting

Agricultural Produce.

6. Describe the impact of the Agricultural Produce Marketing
(Development and Regulation) Act, 2003 on Agricultural
Marketing. [10]

(W& EUIWR)

q% : o\ A T TOT ;80
T :— (i) ¥ WA disfau eRds R
(i) Soehels 3w ol U eFifaa.

1. foU'm wEyEER e 9rd, 9ehRme fOuue SEnedel  SEoer o)
AT TS T H. [14]
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2. RN TOUUHREl e §RH, Wl fOunHe sow fafay yeR e
H. [14]
fepar

fuuART e 9i[, fauoHEt S o Sed TR L [14]

3. () ‘"Rl wWer gfea SEm’ AerR dieR| fau fomn

(F) T FEhll URH TEH HER W H. [14]
ferar
(31) 2003=T Y I aeR (faed a fFaEars) S /e W
h .
() ‘HEhi-3dRA™ fauum’ AR dreswa fou fomn [14]

4. ‘e (NAFED) =t' e ofifo1 &M dfaeR) fwie 0. (T Fi
et fauue @9 :  National Agricultural Co-operatives Marketing
Federation ). [14]

5. WOlo TARI W (R0 dF) [14]

(1) U 3@ IoR AT SE T HA

(2)  1963¥ FHfH I IR (FramTeas) FEcael @ afime fare
.

(3) ‘e (NAFED) = ¥eedidse W1’ IR feu fom.

(4) U A= FEfdER sHos TehRE faque Jeie we &

6. FHfH fouuHEER, 2003=A1 HfH 3G IR (faw™ o FEHEATHS)  hrEcam=

Teo@ gud ToRE &4 [10]
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Total No. of Questions—35] [Total No. of Printed Pages—4+1

Seat
No. [4169]-322
T.Y. B.Com. EXAMINATION, 2012
COST AND WORKS ACCOUNTING
Paper III
(Costing Techniques and Cost Audit)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iii) Use of calculator is allowed.
1. (A) Fill in the blanks (any five) : [5]
(i)  The document which describes the budgeting organisation,

(11)
(tit)

(iv)
(v)
(vi)

procedures, etc. is known as ...................... .
Marginal cost does not include ...................... cost.

Inter-firm comparisons become meaningless in the absence

Idle time variance will always be ...................... .
Target costing was originated in ...................... in the 1960s.

Cost Auditor is appointed for the period of ...................... .

P.T.O.



(B)

[4169]-322

State whether the following statements are True or False

(any
(1)
(i1)
(ii1)

(iv)

(v)
(vi)

five) [5]
Margin of safety above break-even point is always zero.
Favourable material cost variance occurs when actual cost
incurred is more than standard cost.

Target costing system focuses mainly on new product
development activities.

Limitations of uniform costing arise due to the distrust
of the members.

Cost Audit is a part and partial of financial audit.

A budget is both a plan as well as a control tool.

2.  What is ‘Uniform Costing’ ? State the objectives of uniform costing.
What are the important areas where uniformity is necessary to
achieve ? [15]

Or
What is ‘Inter-firm Comparison’ ? State the essential requirements
for installation of a scheme of Inter-firm Comparison. What are
the limitations of Inter-firm Comparison ? [15]

3. Write short notes on (any three) : [15]
(a) Features of Target Costing
(b) Procedure of Cost Audit
(¢c) Cost Accounting Standards
(d) Verification of Cost Records
(e) Cost Audit Report Rules.

2



4. (A)
(B)
5. (A

[4169]-322

From the following information find out :
P/V Ratio
Fixed Cost

Break-even point

(a)
()
(c)
(d)
(e)

The profit made when sales are

Sales required to earn profit of

(2)
(it)

(ii7)

Sales
Variable Costs :
Direct Materials

Direct Labour

Variable overheads

Net Profit

[15]

5,00,000
1,40,000
* 4,00,000
© 1,560,000
75,000

100% of direct labour cost.

© 70,000.

From the following information, calculate :

(2)
(it)

Labour Rate Variance

Labour Efficiency Variance :

Standard wage rate

Standard hours

Actual wage rate

Actual hours

20 per hour
: 2,000 hours
25 per hour
: 1,900 hours.

[5]

Standard labour hours and rate for the production of article

X’ are given below : [10]
Worker | Hours per unit | Rate perhr. () | Amount ()
of output
Men 30 20 600
Women 20 30 600
50 1,200
3 P.T.O.



In a particular period, 100 units of the product were produced,

the actual cost of which was as follows :
Worker Hours Rate perhr. (*) | Amount (")
Men 3,200 15 48,000
Women 1,900 40 76,000
5,100 1,24,000

You are required to calculate :

(1) Labour Cost Variance
(2) Labour Rate Variance
(3) Labour Efficiency Variance

Labour Mix Variance.

(4)

(B) The following information is available from the books of a
manufacturing company which uses two types of materials for
production : [10]

Material Standard Actual
Qty. (kgs) | Price (*) | Total (*) | Qty. (kgs) | Price (*) [Total (")
X 250 60 15,000 200 60 12,000
Y 150 30 4,500 250 36 9,000
Less 15% normal 400 450
loss - 60 -110 Actual loss
340 19,500 340 21,000
Calculate :
(a) Material Cost Variance
(b) Material Price Variance
(c) Material Usage Variance
(d) Material Mix Variance
(e) Material Yield Variance.

[4169]-322
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Or

During a period, Actual Mix differs from the Standard Mix

but there is no change in output. Output of chemical X’ is

10 kgs. :
Standard Mix Actual Mix
60 kgs. of Material ‘A’@ "~ 20 1,200 | 72 kgs. of Material ‘A’@ * 20 1,440
40 kgs. of Material B'@ " 10 400 | 31 kgs. of Material B’@ * 11 341
100 kgs. 1,600 | 103 kgs. 1,781

[4169]-322

Calculate :

(a) Material Cost Variance

(b) Material Price Variance

(c) Material Usage Variance

(d) Material Mix Variance.



Total No. of Questions—35] [Total No. of Printed Pages—8

Seat

No. [4169]-323

T.Y. B.Com. EXAMINATION, 2012
BUSINESS STATISTICS
Special Paper III

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator and statistical tables is allowed.
1. (A) Attempt any four of the following :
(@)
(b)

[2 each]

Explain the term ‘pessimistic time’ in PERT.

Determine whether there exists a saddle point in the

following two person zero sum game :

Player B

-12  -13
Player A

-22 18

(¢) Evaluate :
3
I (3x2 + x) dx.
1

P.T.O.



(B)

[4169]-323

(d) State whether each of the statement given below is True
a False :
(i) Value of game is always positive.
(i1) The distribution of service rate follows Normal
distribution in queuing theory.
(e) State the purpose of life table.
(f)  State Simpson’s gth Rule from numerical integration.
Attempt any two of the following :
(a) Evaluate the following :
(1) J. (7x4 +3x2 + 8) dx [2]
(i) | xlogx d. [4]
(b)  Solve the game with the following pay-off matrix by using
the principle of dominance :
Player B
B; By, Bj

A, |1 2 7

Player A A, 6 7 2

A; |5 6 1 [6]



(¢c) Given the following pay-off matrix :

Strategies States
Ny N, Ng N4
I 4 0 -5 3
II -2 6 9 1
I11 7 3 2 4

Determine the optimal strategy under :
(i) Maximax
(zi) Maximin
(iti)
(iv)

Laplace criteria
Hurvitcz criterion with coefficient of optimality
(c) = 0.6. [6]

(@)

[4169]-323

Attempt any two of the following :

[8 each]

A machine is set to deliver packets of given weight 10 samples

of size 5 each were recorded as follows :
Sample No. Mean Range
1 15 7
2 17 7
3 15 4
4 18 9
5 17 8
6 14 7
7 18 12
8 15 4
9 17 11
10 16 5

Construct control charts for mean and range. Also comment

on whether the process seems to be control.
(n =5, Ay = 0577, Dg = 0, Dy, = 2.115)

3

P.T.O.



(b) A self service employees one cashier at its counter. Nine customers
arrive on an average every 5 minutes while the cashier can
serve 10 customers in 5 minutes. Find :

(i)  Probability that cashier is idle.
(i1) Average time a customer waits before being served.
(iit) Average number of customers in queue.
(iv) Average number of customers in the system.
(¢) Fill in the blanks of the following life table which are shown

with the question marks :

Age W | I, | d, | g | Py | L, | T, | €%
20 10000 ? ? ? ? ? ?
21 9873 — — — — | 83269 ?
3. Attempt any two of the following : [8 each]

(a) Explain the following terms :
(i)  Opportunity loss.
(ii) Decision under uncertainty.
(itzi) Chance causes.

(iv) Queue discipline.
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(b)

(c)
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The following table gives

relevant information :

the activities in a project and other

Activity Duration
1—2 5
1—3 9
2—5 14
2—4 4
3—4
45 10
4—6 12
5—6 6
6—7 10

Find earliest start, earliest finish, latest start, latest finish,

total float, free float and independent float for each activity.

Also find critical path.

A company manufactures 200 motorcycles per day which changes

according to availability of raw material :

Production Probability
(per day)
196 0.05
197 0.09
198 0.12
199 0.14
200 0.20
201 0.15
202 0.11
203 0.08
204 0.06

P.T.O.



Consider the following sequence of random numbers :
82, 89, 78, 24, 52, 61, 18, 45, 04, 23, 50, 77.
Using the sequence, simulate the production for next 12 days.

Use Monte-Carlo simulation method.
4, Attempt any two of the following : [8 each]

(@) (I) Evaluate :

x+ 2 d.

wWe—

x2+4x+5

(II) Compute :

iz dx.
X

I=

DN —— O

Using Simpson’s grd rule. Divide the interval [2, 6] into

4 equal sub-intervals.

(b) A project has the following activities and other characteristics :

Activity Time Estimates (Weeks)
t, t tm
1—2 3 15 6
1—6 2 14 5
2—3 6 30 12
2—4 2 8 5
3—5 5 17 11
45 3 15
6—7 3 27 9
7—8 4 28 19
5—8 1 7 4

[4169]-323 6



(c)

(@)

[4169]-323

(2)

(i1)

(D

variance of the critical path.

within 41 weeks ?

(2) Tolerance limits

Explain the following terms :

(ii) Process capability index.

(IT) Write a short note on ‘Decision Tree’.

Attempt any two of the following :

Draw the project network and calculate the length and

What is the probability that project will be completed

[6 each]

The maintenance cost and resale value per year of a machine

whose purchase price is Rs. 7,000, is given below :

Year Maintenance | Resale Value
Cost (in Rs.)
(in Rs.)
1 900 4000
2 1200 2000
3 1600 1200
4 2100 600
5 2800 500
6 3700 400
7 4700 400
8 5900 400

When should the machine be replaced ?

7

P.T.O.



(b)

(c)
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Evaluate :

I=

lalx
X

DO — J

by using trapezoidal rule. Divide the interval [2, 7] into 5
equal sub-intervals.

The bolts are manufactured and inspected in the batches of
100 each. The number of defectives in the first 6 batches are
given below. Construct np chart for the following data and

state your conclusions :

Sample No. No. of Defectives
1 2
2 5
3 4
4 3
5 6
6 4
8



Total No. of Questions—6] [Total No. of Printed Pages—3

Seat

No. [4169]-324

T.Y. B.Com. EXAMINATION, 2012
BUSINESS ENTREPRENEURSHIP
Paper III
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define the term ‘Personality’. Explain various determinants of

personality. [14]

2. What do you mean by ‘group’ ? Narrate the benefits of formal and
informal groups. [14]
OR

Define the term ‘team’. State and explain types of team. [14]

3. (a) What do you mean by ‘organisational behaviour’ ? What is its

scope ? [7]

(b) Distinguish between manager and leader. [7]
OR

(a) Explain theory Y in brief. [7]

(b) What are the causes of change ? [7]

4, Define the term ‘stress’. Narrate the consequences of stress. [14]

P.T.O.



5. Write short notes on (any fwo) : [14]
(a) Importance of organisational behaviour
(b) Indian industrial leadership and challenges of new scenario
(c) Causes of conflict
(d) dJob enrichment.

6. Due to globalisation, changes in organisation are inevitable. What
are the possible causes behind resistance to change by

employees ? [10]

(TS BUIM)
q% : o\ A THU T : 80
g — (i) |d WA fed e
(ii) SSElhSI® MhS YU U qFifedr.
1. ‘=IEE’ a1 Hhedddl AR 9, SeKRAEeR G4E Rl fafay seh
TR . [14]

2. TUT WIS &M@ ? ATERiE oAU sHiTERie 9HEE AR e
. [14]
feRar
.

g’ B Hhedd l W wEd gud fafdy gER WE e &

8. (31 ‘HuedrcHe Idd’ WUN ki ? A ATl kg AR 2 [7]

(F) ‘=ggrges’ 9 ‘qAd1’ Ide Wle W R [7]
ferar

(1) ‘faga I’ e T HA [7]

(9) wCod HRU HIUCT STRd ? [7]

4, ‘AU’ T Gehouddl A WA AU qROMH WAL [14]
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5. dieEm foo fea (Foed 9F) [14]
(9) TEeAH s dqqre Hed
(F) 9 SiEife Aga 9 Afad Fede  ofem
(%) Heoi=E HRO
(8) ‘wrEgg’  (Job enrichment).

<

6. SIIdhR! FMHRD HeeARHe a8 AMaE 3fiRd. HUARI AE a8l

oy a1 AN I STEUIT ROl il 7 [10]
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Total No. of Questions—6] [Total No. of Printed Pages—3

Seat

No. [4169]-325

T.Y. B.Com. EXAMINATION, 2012
MARKETING MANAGEMENT
Paper III
(Advertising Management)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the meaning of advertising. What are the benefits and limitations

of advertising ? [14]

2. Explain the various objections against advertising. [14]
OR
What are the various functions of advertising ? Explain the importance

of advertising layout. [14]

3. (A) What are the essential factors for appeal in advertising ?
[7]

(B) Explain the main services rendered by an advertising

agency. [7]

OR
(A) Explain merits and demerits of television advertising. [7]
(B) What are the advantages of brand to customers. [7]

P.T.O.



4, What are the advantages and limitations of advertising as a

profession ? [14]

5. Write short notes on (any fwo) : [14]
(@) Types of brands on the basis of the market area
(b) Different advertising media
(¢) Industrial advertising

(d) Functions of advertising agency.

6. State new avenues and dimensions of advertising as a

career. [10]

(TS ETUI)
q% : o\ A TR T : 80
o :— () Wd WA Giefan sewde o,
(i) ISeEhele 3 qul O <Fifaar.
(i) TeuErEdl [B SIS WUl TRl

1. Sifetdran 31 T %y afeddie ®Ee ST JIier v 2 [14]

2. WIfeUdl favg Sdc SUMR MY TR H. [14]
frar

sifetdren fafay i o ? Sifeid A9 "8 TS R

3. (37) Wl STaRANie SAeRdsh orl  hioedl  ? [7]

(9) wifetd @& [Rfad THocd H&d dare TiHo . [7]
fepar

(31) WER  (Television) WfEUd= I[O01 o QY e AL [7]

(9) fo=™ (Brand) UEHMT UM ®EFS HIOG 2 [7]

[4169]-325 2



4, SIfEUd= T WM WIH A ®Ee A HIQr shioen 2 [14]

5. derm fu few (Foem@ d9) [14]
(31) fouuiigen  (Market Area) J9R fo=™ (Brand) YR
() Snfeudet fafaw e
(%) ofrEnfe  Sfedt
(8) Sifed He=i .

6. TEUE WU Weud &< 9 Ug | [10]
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Total No. of Questions—6] [Total No. of Printed Pages—3

Seat

No. [4169]-326

T.Y. B.Com. EXAMINATION, 2012
AGRICULTURAL AND INDUSTRIAL ECONOMICS
Special Paper III
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Critically examine the role of NABARD in rural credit. [14]

2. State the recent trends in Indian agriculture. Explain the advantages
of horticulture. [14]

Or
Review the burden of agricultural taxation in India. State argument

against agricultural income tax. [14]

3. (A) Explain the functions of service co-operatives. What are their
weaknesses ? [7]
(B) Evaluate industrial regional imbalance in India. [7]

Or
(A) Explain the advantages and disadvantages of intensive
agricultural area programme. [7]
(B) Discuss the advantages of multinational corporations in India. [7]

P.T.O.



4, Explain the impact of industrial policy 1991 on industrial development

in India. [14]

5. Write short notes on (any fwo) : [14]
(1) Advantages of minor irrigation project.
(2) SEZ’s and industrial development.
(3) Infrastructure and industrial development.

(4) Malpractices of MNC’s.

6. Explain in brief role of private investment in communication

development in India. [10]

q% : o\ A Tepot T ¢ 80

1. U qdqEEada Aeres Y ekt qliem . [14]

2. YWHE MG AfGhele dee WM. AN I HREe TS K. [14]
ferar
IRAIG  30dl SRy AN W@l Bl 3l e Shird foiet  IerdTag

I [14]
3. (3) Tal Hehr Y K TR KU AP oY RIUd 2 [7]
(9) YRAdie oiEfie Rk fauae qeammad . [7]
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feRar
(31) ¥H Il &5 FHRGHE HRG-dE TR R [7]

(4) YRAMIG SgUsed HUAM= GEEl == S [7]

4, ITENfTR GRU-1991=1 YR STENfes fawdedie gue T 4. [14]

5. dieEm fow fem (@mmdE dM) [14]
(1) o9 Vo &= JHdae wEe
(2) fmm onfdew &3 onfr oiEifies fowm
(3) uEnyd gfaen sufor sieife  fawm

(4) FEUSEE HTAE IRYSR.

6. YOG TBUERU fawEdie @il aaue= e odiewm ¥t

EX [14]
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat
No.

[4169]-327

T.Y. B.Com. EXAMINATION, 2012

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Special Paper III

(Defence Budgeting and Finance Management in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate marks.

1. Answer in 20 words each (any ten) : [20]

(D
(2)
3)
(4)
(5)
(6)
(7)
(8)
9)
(10)
(11)
(12)
(13)

Define defence management.

What do you mean by financial control ?

Define public good.

State the meaning of defence.

What do you mean by resources for defence ?
State any two limitations of defence management.
Define war potential.

Write the meaning of performance budget.

State the meaning of strategic planning.

Define “Zero Base Budget’.

What do you mean by contributory elements of war ?
State the meaning of manpower planning in defence.

Write the meaning of deficit finance.

P.T.O.



2. Answer in 50 words each (any two) : [10]

(D
(2)
(3)
(4)

Explain purpose of financial management.
Discuss functions of ministry of defence.
Explain the role of Financial Advisor.

Write in brief management of resources for defence.

3. Answer in 150 words each (any fwo) : [20]

(D
(2)
3)
(4)

Explain features of Indian economy.

Discuss basic macro-economic concept.

Explain Parliament control over Defence Budget.

Discuss impact of poor defence expenditure on Armed

Forces.

4, Answer in 300 words each (any {wo) : [20]

(1)
(2)

3)
(4)

Explain effects of war on economic structure.

Discuss industrial capacity and man-power are the elements
of war potential.

Analyse India’s defence expenditure since 1998.

Write a note on the debate Defence Vs. Development.

(WS ®aia)

d9% : o a™ THUT 7T : 80
o :— () Wd WA Giefan sewds o,

(i) SSElHSIe 3k O TFife.

1. 20 3= SW A (KRN /1) : [20]

(1)
(2)
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TIIU] AT ATl .
afefer o =oN w2




(3) TS TEH S L.
(4) feh=g=n 1 fomr
(5) faEdw wr feovw =N S ?

(6) YU FEAIOAET HARl (HUAE dE).
(7)  JS&¥HAT e =

(8) =wEIfygE siefddhed o1 foml

(9) wmRe feH od fomn

(10) [ URG ieddehcd SATEAT .

(11) Jg= ARHARE =k WS w7

(12) TYUdIG HAFER FaeE B/ w1 ?

o [aWa

(13) fewifge wEAFT g foen

2. TR 50 I Sl A (RUE QM) [10]

(1) o1 T e T &

(2) TIYU HATHIA wEEed 9=l .

(3) onfdfer Uoomm=l yfHeh T &

(4) “'EIIUTEEST WYH U oHaEyq.’! oiesa fol

3. WA 150 I&A SR WO (FORE |E) [20]
(1) 9RdE sdeeeds quyd T &

(2) dfge HARI-THATHE HOUC ASH T Idf .

(8) WU IENThREl THe HIMYSR E90 &id ? T &
(4) HH IfHE I W WAR@ER BT qRUMHEEd ==t
.
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4. 300 I SR T (FUGE @A) : [30]

(D
(2)
(3)
(4)
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g Ak Toer Broman  RumHreed ==l R

SiENfieh  amal o1 Ao JS&Haal ¥esh WUH < h
1998 WY WRArAT WU foRowT .

W o fae™ w1 arEe faqu fen




Total No. of Questions—6] [Total No. of Printed Pages—3

Seat

No. [4169]-328

T.Y. B.Com. EXAMINATION, 2012
INSURANCE, TRANSPORT AND TOURISM
Paper III
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Enumerate in detail the functions and working of WTO (World Tourism

Organisation). [14]

2. Distinguish between tourism in India and tourism in other
countries. [14]

Or
Explain the importance of passport and visa for international

tour. [14]

3. (A) Explain the role of city guides in tours.
(B) Write a brief note on PATA (Pacific Ar Travel Association).
Or
(A) Explain the functions of IUTO (International Union of Travel
Organisation).
(B) Write a brief note on tour planning. [14]
P.T.O.



4, Define group tours. Explain the significance of advertisements, publicity

and marketing of group tours. [14]

5. Answer the following questions (any two) : [14]
(1)  Significance of effective presentation skill in tourism. Explain.
(2) Write a brief note on tour packages.
(3) Write a brief note on tourism in Thailand.

(4) Need of behavioural aspect for tourism. Explain.

6. What are the facilities available to international tourist in Mauritius ? [10]

(AUE ®UI)

q% : o\ A TEHUT T : 80
o :— (i) §d WA diefau eRds R
(i) SEFES s U T eFiaa.

1. ‘'SFfae e weedt’ (World Tourism Organisation) &M TfUT SHRR
gt for1e *4. [14]

2. TRAMdie gded oTfol s <3l 9ded Il e foRle & [14]

fenar
AW YA/ as@dt qdue  (Passport) ol f&@m  (Visa) A
Tecd T2 . [14]

3. (3) YaEd (IEA) IR HEiGEEREl  (City Guides) YfHeRT Tw
() ‘T9fReR e AT FAERWEA'  (PATA) IR oredd feu fom
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fenar
(31) I WAl STaWs™ JFEEer  (IUTO) 1 T &
() IE-fEsH TR feg fomrn [14]

4. HE-IA (Group Tours) < @A ANHE, TE-dB Sfedd, TG ST

foque Hewidies Hed T & [14]

5. TOG WEAEl SW W (FU0E |M) e [14]
(1) weamed Jael WIEHRI0 DRI Hed T &
(2) IA-YeE@  (Tour Packages) R digswa feu fom.
(3) ‘uee At THed' AeR diewRa feu fom

(4) 'THAES! AUkl RS’ (SRTUART d6l) ¥R A

6. ‘AR WH AAWNE WEHEES! div glaum Iuosd oed 2 [10]
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Total No. of Questions—35] [Total No. of Printed Pages—2

Seat

No. [4169]-329

T.Y. B.Com. EXAMINATION, 2012
COMPUTER APPLICATION
Paper III
(MIS, Software Engineering and Enterprise Resource Planning)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Neat diagrams must be drawn wherver necessary.

1. (A) Attempt any four of the following : [8]
(1) What is system ? State its characteristics.
(ii) What is Software Engineering ?
(iiz) What do you mean by ERP ?
(iv) Write the format of decision table.
(v) Define business process.

(B) Attempt any two of the following : [8]
(i) Explain any four McCall’s quality factors.
(i1) Explain the concept of Business Process Re-engineering
in detail.

(iit) Write a note on Data Dictionary.
P.T.O.



2. Attempt any four of the following : [16]
(i) Discuss on benefits of the ERP.
(ii) Write a note on Prototype Model.
(iit) Explain the ISO standards in detail.
(iv) Explain system implementation strategies.
(v) Explain the role of MIS.

3. Attempt any four of the following : [16]
(i) Explain the feasibility study in detail.
(1) Explain input design with example.
(iiz) Differentiate between MIS and BPR.
(iv) Explain different types of system maintenance.

(v)  Explain the concept Reverse Engineering and Re-engineering.

4, Attempt any four of the following : [16]
(i) Explain fact finding techniques in detail.
(ii) Explain SDLC in detail.
(i) Explain different types of testing.
(iv) Explain the concept of Information and Knowledge in detail.

(v) Write a note on Information Management in SCM.

5. Attempt any four of the following : [16]
(i) Discuss the concept decision tree in detail.
(it) Write a note on CMM level.
(iit) Explain the role of system analysis.
(iv) Explain information system quality.

(v) Explain system requirement specifications.
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Seat
No.

[4169]-330

T.Y. B.Com. EXAMINATION, 2012
COMPUTER APPLICATION
(Vocational Course—V)
(2008 PATTERN)
: Two Hours Maximum Marks : 40
:— (1)  First question is compulsory and attempt any five from
the remaining questions.

(i1) Draw a neat and labelled diagram whenever necessary.

What is Network ? Explain different types of network topologies. [10]

Explain in brief the following with syntax and example : [6]
(a) <A> tag

(b) search engine.

What is E-commerce ? Explain types of E-commerce. [6]

Explain the following with example : [6]
(¢) VBScript functions
(b) <FORM>

P.T.O.



5. Explain in brief the following with example : [6]
(a) 'Table tag

(b) Inserting image in HTML page.
6. Explain the following : [6]
(a) E-payment

(b) B to B E-commerce.

7. Write short notes on : External linking and Internal linking. [6]
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Seat

No. [4169]-331

T.Y. B.Com. EXAMINATION, 2012
ADVERTISING, SALES PROMOTION AND SALES
MANAGEMENT
Paper V (Vocational)

(Sales-force Management)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. State and explain sources of recruitment. [12]
OR
What do you mean by performance appraisal ? Highlight its

significance.

2. Discuss the objectives of training. [12]
OR
Briefly explain the factors to be considered for setting sales

quota.

P.T.O.



3. Write short notes on (any fwo) : [16]
(a) Significance of sales management
(b) Sales planning
(c) Legal aspect of public relations

(d) Need of customer relationship management.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4169]-332

T.Y. B.Com. EXAMINATION, 2012
TAX PROCEDURE AND PRACTICES
Paper V (Vocational Course)
(Customs Act)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) : [10]
(i) What is WTO ? When is it formed ?
(ii) What is meant by Customs Tariff Act 1975 ?
(i) What is meant by ‘Dutiable Goods’ ?
(iv) What is meant by ‘Basic Customs Duty ?
(v) What is meant by ‘Transaction Value’ ?
(vi) What is meant by ‘Transshipment of Goods’ ?

(vit) What is meant by ‘Noting of Bill of Entry ?

P.T.O.



(1)

(2)

(3)

(4)

(5)

[4169]-332

2. Answer in 50 words each (any two) : [8]
(1) What is ‘Demurrage’ ? What are the types of demurrage charged
under Customs Act ?
(2)  When draw-back is allowed ? What are the duty draw-back
rates available ?
(3) Explain export procedure to be followed by person in
charge.
(4) What is “General Free Allowance” Provided Under Baggage Rules
1998 ?
3. Answer in 150 words each (any three) : [15]

Is there any difference between “Baggage” and “Bonafide
Baggage’ ? Explain.

Explain briefly the difference between Customs Act and Central
Excise.

What is meant by ‘Export General Manifest’ ? Who has to
submit EGM ? When ?

Distinguish between clearance for Home-consumption and clear-
ance for warehousing.

Distinguish between ‘Territorial Waters’ and ‘Indian customs

waters’ under the Customs Act.



4, Write answer in 300 words (any one) : [7]
(1) What are the different types of duties levied and collected

on imported goods ?
(2) Explain the term ‘Customs Stations’. Who appoints customs

stations ? What are its importances ?
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Seat

No. [4169]-333

T.Y. B.Com. EXAMINATION, 2012
ENTREPRENEURSHIP DEVELOPMENT
(Common to)

(i) Computer Application
(Ii) Advertising, Sales Promotion and Sales Management
Paper VI (Vocational)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the following types of entrepreneurs : [12]
(a) Innovative
(b) Imitating.
OR

Briefly narrate merits and demerits of sole proprietorship.

2. Write a detailed note on SWOT Analysis. [12]
OR

State and explain various modes of employment.

P.T.O.



(a)
(®)
(c)
(d)

[4169]-333

Write short notes on (any fwo) :

Characteristics of entrepreneur
Break-even point
Role of consultancy organisation

Marketing mix.

[16]



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat
No.

[4169]-334

T.Y. B.Com. EXAMINATION, 2012
TAX PROCEDURE AND PRACTICES

Paper VI (Vocational Course)

(Entrepreneurship Development and Project Report)

Time :

(2008 PATTERN)

Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) : [10]

(D
(2)
3)
(4)
(5)
(6)

(7)

Which are the different forms of innovations ?

State the classifications of entrepreneurs.

State the main key elements of entrepreneurship.

State the main basic qualities of an entrepreneur.

State the various stages of entrepreneurial process.

What do you understand by entrepreneurial development
process ?

What do you understand by Human Resource Planning ?

2. Answer in 50 words each (any two) : [8]

(@)
(b)

(c)
(d)

What do you understand by “Job Description” ?

What are the main specialities of private sector
enterprise ?

What are the salient features of Joint Stock Company ?

What are the main marketing functions ?

P.T.O.
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